4= =
SH2FE 11875 FER AR L AR P
= ® A 1 = s =3
B|® S 2E ife % s s 1 203 405 6 P PTA-XTES %
GEETAC]
18 X
SELEF1EMEETRA ~F REHRA ] EIEIEIEIE NG 2% - 2E—-FHRIEES A
2 | B|BEXRE (14) £HEEHAS ($E2E) 7:45 (m1/A2|A3/ A4 A5 A6 2
77T ® a2
pg[d0)=] AR R TR AR
3K
4
SEAF1EHETR b & K1|k2|k3|Kka ks|ke PTA#M4TERS (17:30) 2 B % (19:00~) A
4| K|BEXE (2F) VAR REIEIEIEIE IR 1S 1,3
s T | T k3 Kka|ks|Kke6 F
EERR (35) H A1|K2 K3 | K4 K5 K6 TRERER (BK +274>,13:30) A
5K X | 7:45 [x1]x2 x3|K4| k5| %6 1,2
X Exx x5 F
EFTUN— b AERETIRT 21|82 £3 /2485 A6[FAR BZRGFEES ER FUS5MY)
6 |2 |% 1 EARNERERAEETEES x [ 7:45 (21222324 25 Ae (@)
L €1|€2/£3|£4|25|A6
11 X
8 (H X
EFHEEH A A1|R2 As|A4|/As|A6 FARREMRETEER - BERR (R, &K
9 (A x | 7:45 a2 A3 A4 A5 | Ae REFEER (BX) o
A1/A2|/A3 A4 A5 Ae6
bR L i k2| ks kalus S |RRAE5:10 miRES (BK,9:30 mtr2—)
10 & x| 9:00 | [x2 k3 xa|us| =thigs (Lig, 10:25~) (e}
M k2 ks xa|ks| S F—mBEs (A, 14:30)
HRETR b+ EFEHA % E B || /|FHEEES13:30 BoixERIZRR#F (R, 14:30)
11K x|[7:45 (@ % B] | |/ FEK (X, F#&) x
B # & 77
BT b FIE IR EAPAVAEES BUBKGHS, ERESELER (BFX)
12K x| 7:45 [ % | % x3 k4| /| Brh{kEERIG KRS (&, 8:00) (e}
EAE IR IPAPS FER (§H FH)
F2ERAFRIGARRITERR ®1|®2 3|84 %85| F MASKGHE &K (BH F&)
13|& 7:45 [21]22]23/24|25] O
£1) %2 £3|%4 |25 F
14| £
151 8
@@/ pEERRRIZE B1|R2 B3[R4 B wox
16| A|G2Es E©RE:R [English Week (16~20) || 8:00|A1 A2 As A4l 88 ums o
A1/ B2|/A3|A4| 5} o
WAL EFEHREHA i kez|ks kaks /|BEERFH510 FAEKE - BRE (BK F#&)
17 ke x [ 9:00 [ & w2|ns|ka xs| PTALERESTRER O
B (k2| k3| k4| k5| S
BRETAN B0 T |k2|k3|Kk4| k5 K6 FEHER (SH FB)
18| K |EkigE (245 - 143 - 448) 7045 | F [k2|ka|Kka|ks ke REAMIGKRGEHS (BEX) o
T |Kk2|Kk3|Kk4a| k5 K6 IR (M, K, F8)
HEO BHEEAIER WHEE ~12/4R) GG LR ER ERETIETES FR R %)
19| K| 3R REES 7:45 |x1|x2| A3 K4 K5 A6 0o
S CE& IE R
BEQ \L 21/82 23|24 85 F FRORE, §3#, 0K, Fi&)
20 & 7:45 |&1 | &2|&3 &4 &5 P O
21|22 £33 24|25| F
hhLDOMBOSHYHEE 2 binEs
21 Yyh—) =78 (AR&E)
VI rTZRABHEER (ARR1S)
228 Huh—)—J8 (RERE)
HIER-HOE VI rToRBHBEER (ARRS)
23| A
BEG R L W k2| k3 x4 k5 |#AFFI5:00 FERGRE, &A8)
24| & X [ 9:00 | & |x2|xa|xa| x5 ~ O
B k2| k3| x4|k5| S
HED OEFRD K1k ks ka kS| HWXBAREER (BA, L&, 14:00~)
25 | K [Biteh AR HHFER T (~26) 7:45 [k 1|kz2|ka|ka Ks| REXKGEHEREX (=54, 10:00) ©)
Kk1|k2 k3|ka k5| F SEERY T (FERY I0F EATRE)
S CkE#& IERES R E EES
26| K 7:45 |K1|k2 k3| K4 k5 K6|3EPER (@)
A1|K2|K3|K4|K5|K6
HRG ®1/®2 3 #4856 BAERESRE (18:000 BEHEHRERAR (X,
27| & 7:45 [®1|®2 ®3 ®4 ®5 k6 #E) BX#FEAS ORE /AE) dtEEE | O
21|22 23|24 25 K6 BB B BHEAR (=54)
28|t
BN S = ERY
29( 8
HNFEG THEHA RWBRAEL A1|R2|A3[A4 A5 /|BERT5:00 BERHFEHFMERT
30( A |#E3mRNEBRIEARETEES X [7:45|81 82|83 /A4/A5 e}
A1 A2/A3/A4 A5 ~
BREAH F1FE 198 F2%FF: 198 FHIFEF:19H
Bli2r 7 () muthgi(2/sm) EnsmRAs)
12721 (A) REEx (1 - 285%) = .
El12.22 (k) &zt EETR 1715




